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1. VOCABULARY What are the coefficients of the expression dx + & — 9x + 27 4, -9

2. % WRITING Are the expressions 2(x + 1) and 2x + 1 equivalent? Explain.
No; the 2 was not distributed to the 1, 2ixr + 1) =24+ 2.

ERROR ANALYSIS Describe and correct the error in simplifying the
[
3. The negative was not distributed to the —8; 5p— (2F—8] =Sy —2F + B =3+ &
3. 1.
Sy—(y—8)=5y—2y- b
= 5:; — B

B4+244+3) =B+ 8 +6x
=22x

4. Unlike terms cannot be combined; 8 + 2|14 + 3x} =8 + 8 + 6wr=16 + 6.
USING THE DISTRIBUTIVE PROPERTY Use the distributive property to write
an equivalent expression.

5. dix +3) 6 Bly+2) 7. (m+ 515 B (n+6)3
Ar + 12 B+ 16 Sum + 25 e+ 18

(9)(p = d-8) 10. ~dig— 4) 1L 2(2r—3) 12. {s— 9)9
—Bo+ 14 —4g+ 16 4r—§ 95—

13. Grlr + 1) 14 —wi(Zw+7) 15. —2x(3 — x) 16. 3y(y — 6)
B +Br —Iw — Tw x* — By 3 — 18y

1, _ a1, ey 3..3 1 Eepn _ 1y 5 z2_6
17. E'.Em d]lm 2 18. Eip 1) 4P+4 19, iIH':irr 9) dr—6 20, Er[r 1:|E.|'2 Er

IDENTIFYING PARTS OF AN EXPRESSION Identify the terms, like terms,
coefficients, and constant terms of the expression. 21-26. See margin.

2l. T+ 1ix+2x+ 8 22 9+Ty—-2-1y
M -+ -T+89
5. 2+3xy—4dxy+6 28. Bxy — llxy + 2xy — dxy + Ty
27. % MULTIPLE CHOICE Which two terms are like terms? B
Ky -2, —Gx B dx, —x & -2, -2y

SIMPLIFYING EXPRESSIONS Simplify the expression.

(B 5x, -3y

M, Tx+(—1lx) —4x

3L da—1)2+a Ja-2
3. 15— — 4 14r+4
37, Tlw — 5) + 3w 10w — 35

M. By —y 5F

2. H2-c)—c B¢
35 3m+ 35— W03m+5
IB. B(5—z)+ 2z 30— 47

3. 5+2n+2 20+1

33. Gr+ 2(r+4) Br+8
36. —6Blr+ 1)+ v -S¥—6
38, (5—3)-2) + 175 155+ 6

{£3 CEOMETRY Find the perimeter and area of the rectangle.

4.

F+3
2r+ 16;5r+ 15

41

& — 12w
34 — M 12 — 108w

25 Apply the Distributive Property 99

42,
2.1

x4+ 06
2x+54;20x + 1.26



€]

USING MENTAL MATH In Exercises 43—-46, use the example below to find
the total cost.
m Usa the distributive property and mental math

Use the distributive property and mental math to find the total cost of
5 picture frames at $1.99 each.

Total cost = 5(1.99)

Wrrite expression for total cost.

=5{2 — 0.01) Rewrlte 1.99 as 2 — L0
=5(2) — 5(001)  Distributive property

= 10 — 0.05 Multiply using mental math.
=985 Subtract. The total cost Is $9.95.

43, 3 Cs at $12.99 each $38.97 44. 5 magazines at $3.99 each $13.95

45. & pairs of socks at $1.98 per pair $11.88 46, 25 baseballs at $2.98 each $74.50
TRANSLATING PHRASES In Exercises 47 and 48, translate the verbal phrase
into an expression. Then simplify the expression.
47. Twice the mm!_-]cit'ﬁ and x, increased by 5 less than x
+ )+ lr =5k 3x+
48, Three times the difference of x and 2, decreased by the sum of x and 10
Hr—2)— v+ 10); 2x — 16

49, CHALLENGE How can you use aib + ¢) = ab + ac to show that

PROBLEM SOLVING

(b + cla = ba + ca is also true? Justify your steps.
&+ cla= #lf + &, Commutative property of multiplication; = a# + s Given statement;
= fg + cg, Commutative property of multiplication

i:i;i']'i'éﬁ ........
¢ for Exs. 50-52

B2 L=25+
0.1 — 10);

10 minutes today
and 15 minutes
tomorrow; the
cost of using

the phone 10
minutes today
and 15 minutes
tomorrow is 2.5
+ 2.5+ 015 =
$5.50; the cost of
using the phone
for 25 minutes
today is 2.5 +
0.1115) = §4.

G = WORKED-OUT SOLUTIONS

50. SPORTS An archer shoots & arrows at a target. Some arrows hit
the 9 point ring, and the rest hit the 10 point bulls-eve. Write an
equation that gives the score 5 as a function of the number a of
arrows that hit the 9 point ring. Then find the score if 2 arrows
hit the 9 point ring. s= —s + 60; 58
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@ MOVIES You have a coupon for 32 off the regular cost per movie
rental. You rent 3 movies, and the regular cost of each rental is
the same. Write an equation that gives the total cost C {in dollars)
as a function of the regular cost r (in dollarsiof a rental. Then find
the total cost if a rental regularly costs $3.99. £=3-—6; §5.97
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9pa

ints
"™ 10 paints

52. % SHORT RESPONSE Each dav you use vour pay-as-you-go cell phone
you pay $.25 per minute for the first 10 minutes and $.10 per minute
for any time over 10 minutes. Write an equation that gives the daily
cost C (in dollars) as a function of the time ¢ (in minutes) when usage
exceeds 10 minutes. Which costs more, using the phone for 10 minutes
today and 15 minutes tomorrow, or using the phone for 25 minutes
today? Explain.
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